(3+24)+6= 3+ (2446) =

(324+4)+6= 32+ (4+6) =
(6+54)+8= 6+ (54+8) =
(2+18)+9= 2+ (18+9) =
(73+5)+5= 734+ (5+5) =
(bb+4)+6= 4Lh+ (4+6) =

65 ECKIDS



(15+5)+10= 32+ (24+5) =

(4+23)+16= 24+ (26 +4) =
(42+5) +28= 6+ (22+19) =
(3+33) +24= 61+ (9+20)=
(7T+13)+34= 22+ (5+25) =
B1+9)+10= 7+ (14435) =

65 ECKIDS



(31+2)+8=

(23+7) +18=

(2+15)+12=

(524+5)+ 7=

(3+55)+8=

(78+2)+6=

18+ (4+6) =

35+ (26+6)=

4+ (41+18) =

22+ (1+19) =

7+ (53+4) =

44+ (6+8) =

65 ECKIDS



(15=9)+6=

(52—8)+33=

(23—-3)+2=

(45—28)+7=

(8—3)+67=

(97—35)+9=

6+ (l14—4)=

25+ (19—5) =

4+ (12—5) =

31+ (77—9) =

24+ (46—8) =

8+ (62— 17) =

65 ECKIDS



(6—2)+46= 22+ (4—1)=

(35— 15)+8= 12+ (34—"T) =
(712—9) +5= L+ (29—3)=
(2—1)+90= 9+ (56—5) =
(81 —6) +22= |+ (65—33) =
(99—-88) +3= 24+ (32—8) =

65 ECKIDS



(11=8)+17=

(44—0)+22=

(36 —24) +8=

(8—3)+82=

(T7T—41)+6=

(50—5)+42=

52+ (8—2)=

3+ (14—10) =

71+ (62—6) =

9+ (27-3) =

5+ (15—15)=

9+ (36—20) =

65 ECKIDS



